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QUESTION 1

Which three generational spaces make up the HotStop heap? (Choose three.)
A. Young Generation

B. Internal Generation

C. Old Generation

D. Permanent Generation

E. Persistent Generation

Correct Answer: ACD

QUESTION 2

Which system property is used to customize a Coherence deployment configuration for different environments?
A. tangosol.coherence.cacheconfig

B. tangosol.coherence.site

C. tangosol.coherence.management

D. tangosol.coherence.override

Correct Answer: A

QUESTION 3

A company has a billing and ordering application accessed by ten million subscribers. Some subscribers rarely log in,
and others log in almost every day. The company\\'s goal is to provide the quickest possible response to web requests.
Accesses make repeated reads and occasional writes to user sessions, each of which is 4 KB. Which architecture
meets these needs?

A. areplicated cache, so that applications can always access data locally

B. there is too much data for Coherence to be effective in this scenario

C. a distributed cache with sticky sessions and near caching

D. a small replicated cache for frequent users and database read-through

Correct Answer: C

QUESTION 4
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Which three packages are available in the JRockit VM? (Choose three.)
A. java.io.*

B. java.util.*

C. java.swing.*

D. java.sql.*

E. java.awt.*

Correct Answer: ABE

QUESTION 5

Which plug-in does Oracle Traffic Director require you to install to load balance HTTP requests to WebLogic Server?
A. mod_wls

B. mod_weblogic

C. mod_wl_ohs

D. No plug_in is required

E. mod_ohs_wil

Correct Answer: C
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